N of simulated tracks vs transverse vert position

| N of associated tracks (simToReco) vs transverse vert position

| N of simulated tracks vs z vert position

[%2] C M [%] F n - N N N N
s I : e F g F i b0
0 L S - L S S S L S S s St S
g E : s F -2 S O
g F : 0 P T S PR R B
gt : g f : T N S g
1O4=— """""""""""""""""""" Seeeneaeas 3:_ ______________________ R E : »" ﬂ :
z s B S s o o
L : e Fews” o 102w T R e oo
I : 102 o™ e e Bornnens F pooe ;%% :
O3 o T W e E® Dot 3 o : do ¢
' E ::‘”"’ 10: . . +:+¢Y++ lo;zfﬁfﬁﬂj
102 :_.Q-.?... + ierat § + _%ﬁiﬁﬂ
P 29 L e | | _ I S i
§ 1;.,“ , -»”||J, § 1;;‘_" +1- ‘;zg ‘:: 0 | L § i ’ ||#IL¥I1III’|!” |
: (1] 011
0.95L C L ALEkdE 0.95 i i L i

1072

N of associated tracks (simToReco) vs z vert position |

o
W

12 F
o -
[ -
T,
QL0 F
o =
2
D L
c

a1

Q

o

[y
o
N

Y
[

|
[l

il

010

20

30

TP vert z (cm)

10 10°
TP vertr (cm)

107 1

B
%

[N of simulated tracks vs.simPVz |

10 1
TP vertr (cm)

02

=
Q
r
T T

TrackingParticles

=
o
W

10?

<+

=
=

0
———

0%567=15 -10 50 5 10

15 20

TP Sim. PV z (cm)

=30 -20 -10 O 10

20

30

TP vert z (cm)

| N of associated tracks (simToReco) vs. sim PV z |

Q
>
T

Beconstruged TPs

(=)
w

10?

Om...l....

c f b LEN [
Eiqd 4 i T
00 =15 -10 -5 0 5 10 15 20

=20 -15 -10 -5 0 5

TP Sim. PV z (cm)



	Contents
	Page 1


